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;c) Digitdllf,requelrpy. meter
d) Ballistic galvanometer
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..i,'..Note: 1) Question No.l is compulsory. .-! ,:l

2) Attempt any three questions out of remaining five quesjion

3) Assume suitable data if required'

unknown qu.antrty.
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',. : (ii) ;'d seriei resist6nc-e foi tull:.s.Calg leading with 1000v

C'dliutate' 1he.il-g*er rdiss ipaJion ir r eaih c.ase.
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Q.3 (a) Explain with bloik diagram Rffitype digit'aiVoiim'bterl ' . :l

(b)Explain working prinCipal of Schering Qridggjang.he.qce dqrive the equation tbr
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(b)Explainresolutionandsens:tivityofd,igitalT,!,3,i. ..,' llii;r,:.;t: 
-'i,i,';,;^:..j::i{41,t

--'-.-.',;i',.j.i;r...". -r--;:'.g.ii,..:1..i..:,1.:i':,,:11...:..r .'r,.,:

.,r'. '.,,, 
"_ ..' ,. t--' 

.r , 
"i'' 

., . : .,:,
(d)Explain a De Sauty's bridge to measuie:thei c1pacii3n9"..ot-gqp.qEi{bi,-;r;..:, .. ,, .ii',it1)., ,,,,. 
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(E)Explain resistance temperature deteitor (RTD)p{ piezogle-cfic'tr1nsducer.. '. " (4)

e.2 (A) Explain working principle,c-bnifiilction o!.poying iioh iistiuma:ilf ,h1(.hen96:derive
the torque equatiJn. 

' ;:'',""-...ui : '.',:':-':i.:,.tt,#',,+..li' .:"1'.';,:':,.,,.'' (10)
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(b)Desclibe construction,workingprinciplgrdn6.lhpbry of .dy-n4rn'ometer, !ypg:wattmeter.

e.4 (a) lxplain,Maxwell?S Inductancq:b;iidge !o measuqe,self inductance and hence derive the

equation for seifjndu,ctaflbe using ao-ove'bridge, drarv phasor diagram, t r J)
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(b)Eappin 
lhe;lnstrnc{onand 

v;oi=king ofD C:rCrompton type potentiometei. . (,,r1

Q 5 (a) A moving coi! instrument gives a full scale deflccticn cf lOnA ;rli;i, il,o y'i.,. ol

,: di erenCe-across its terminals is 100 mV..Calculate

'.' ,'." ,'1i)!hQ sh;iniiiiistp.4ieToia futt;qdle deflection corresponding to 100A

I 
., (o),, l., ':..1 uc!iolarid *brking of LVDT.
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a) PMMC instrument '

"b) Megger :

ics Measurement
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